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SPK23040015 0 -0001
1 m3
24. 08 % 50. 56 % 25. 36% 0. 00% 227
( ) (
> ( ) KTPCO00018
0. 8m3( 0. 6) 24. 08 % KTPT00018
( 1,2, 3 0. 8m3( . 6m3)
( ) ( ) RTPC000Q6
50. 56% RTPT000Q6
TTPCOOOY3
, 2 4KL 25. 36% TTPTO0OO0O0Y3
EPOO1
A=1 B=1
cC=1 D=1
E=1 - (




SPK23040020

1m 4 m
11. 71 % : 83. 03 % : 5. 26% : 0. 00%
( ) ( ) ( )
( ) ( )
2 9. 99% 2
0. 8/ 0. 6m3 0. 8/ 0. 6m3
( ) ( )
0.8 1.1t 1. 62% [ ]
0.8 1.1t
( )
60 80kg 0.10% 60 80kg
51. 56%
22. 7T8%
( ) ( )
8. 69%
, 2 4KL 5.12%
’ ) 0. 14%




0-0019

SPK23040020 -0002
Im 4 m m3
11. 71 % 83. 03% : 5. 26 % 0. 00 % 1,861
( ( ) (
A=3 Im 4m D=1 - (




SPK23040017 0 -0003
1 m?2
0. 00% : 100. 00 % : 0. 00% : 0. 00 % 4 46
( ) ( ) ( ) ( )
RTPCO000Q2
100. 00 % RTPT000Q2




SPK23040002 -0004
DI D 3.0km (2.0km ) 1 m3
46.25% 38.07% : 15. 6 8% 0. 00 % 72
( ) ( ) ) ( )
] ] MTPCO0OO 1
10t 46.25% 10t MTPTOOO 1
( ( ) ) ( ) )
( ( ) RTPCO0O0O0QO
38.07% RTPTO0O0O0(
TTPCO0O0O1
.2 4KL 15. 6 8% TTPTO00O0 1
EPOO1
A=1 B=1 . 8m3( 0l 6m3)
c=1 ( ) D=1 DI D
E=9 3.0km (2.0km )

~ ~



0-0022

S10300209 0 -0005
. 15m 1,000mm
0.740
0.740
0.740
0.740
0-0006
CD 1500 mm 0.740
0-0007
70t 0.740
) 0-0008
45m3 0.740
30 12, 20(25) 3. 85m3
55 ), )
#09
20 0%
1
A=5.55 ( mB=0 1 ( m)
C=0 2 ( m) D=1. 6 ( m)
E=1 1, 000mm F=4.5
G=2 ( ) H=18 ( m3)
| =1
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-0005

0

30029
00 mm

[eNe)

1

N -

15m




0-0024

18 S9142 0 -0006
CcD 1500 mm 1
( )
1.00
, 2 4KL 69. 00 L
CD( / ) 1. 45
©1500mm
1
1
A=3 CD 1500mm B=1 ( / )
C=629 (L/|) D=1. 45 ( /)
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106 .

70t

18
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0-0027

S0385 0 -0009
0. 090
0. 310
< >
50t , 0. 090
11
#09
19 %
1
A=1 1, 00 mm
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SS0000909 0 -0010
SD345 D16 D25 ( ) [ 110t 1 t
( ) 1.000t¢
<J1SG3112>
SD345, D16 25 1.030t¢ 1*1.03
1
1 t

D16 D25
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SS0000909 0 -0011
SD345 D13 ( ) [ 110t 1 t
( ) 1.000t¢
<J1SG3112>
SD345, D13 1.030t¢ 1*1.03
0.995kg/ m
1
1 t

D13
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( ) SPK23040007 0 -0012
50, 000m3 1 m3
44. 49 % 35.67% 19.84% . 00 % 229
( ) ( ) (
( ) ( ) MTPCOO153
2014 44.49% 2014 MTPTO0O01H3
0.8/ 0.6m3 0.8/ 0. 6m3)
( ) ( ) RTPCO000Q6
35.67% RTPT000(6
TTPCO0O0O013
L2 4KL 19.84% TTPT00013
EPOO1
A=1 B=1 50, 000 m3




( ) SPK23040007 0 -0013
50, 000m3 1 m3
46.68% 34.26% 19.06% 0.00% 284
( ) ( ) (
( ) ( ) MTPCOO01H3
2014 46.68% 2014 MTPTO0O01HS3
0.8/ 0.6m3 0.8/ 0.6m3)
( ) ( ) RTPC0O0O0(6
34.26% RTPT000(6
TTPCOO0O13
L2 4KL 19. 06 % TTPT00013
EPOO1
A=3 B=1 50, 000 m3




SPK23040020 -00114
Im 1 m3
6. 01% 90. 52% 3.47% 0. 00% 2,845
( ( ) (
) ( MTPCO0OO0O0Z10
1 5. 33% 1 MTPTO0O0O0Z10
0. 45/ 35m3 0. 45/ 35m3
< > ( KTPCO0O0020
60 80kg 0. 68% 60 80kg KTPT00020
RTPCO000Q2
54. 90% RTPT000Q2
RTPC000Q1
27. 09 % RTPT000Q1
( ) ( ) RTPC000Q6
8. 53% RTPT000Q6
TTPCOOOY3
, 2 4KL 2. 50% TTPTO0OO0O0Y3
, TTPCOOO44
, 0. 97% TTPTO0OO00144
EPOO1
A=14 1m D=1 - (




6 .

01%

90.

SPK23040020
1m
52 %

3.

47 %

0.

00 %

0

-0014




SPK23040002 -0015
DI D 3.0km (2.0km ) 1 m3
48.11% 36. 75% : 15. 14% 0. 00% 1,02
( ( ) ) ( )
] ] MTPCOOO 1
10t 48.11% 10t MTPTO0O0O 1
( ( ) ( ) )
( ( ) RTPCO0O0O0C
36. 75% RTPTO0O0OG
TTPCOOO1
, 2 4KL 15. 14% TTPTO0O0O1
EPOO1
A=1 B=1 . 8m3( 0l 6m3)
c=3 D=1 DI D
E=9 . 0km (2. 0km )

~ ~



SPK23040152 0 -0016
Co ( DI D 28. 4km (23.2km ) 1 m3
42.35% 42.40% : 15. 25 % : 0. 00 % 3,63
( ( ) ( (
] MTPCO0OO 1
10t 42.35% 10t MTPTO0OO 1
( ( ) (
( ( ) RTPCO0O0O0(
42.40% RTPTO0O0O0(
TTPCOOO 1
.2 4KL 15. 25% TTPTO0O0O 1
EPOO1
A=1 Co ( B=1
C=2 DI D D=6 4 28. 4km (23.2km )
E=1

~ ~



0-0036

T S3076 0 -0017
90m3 160m3 (H5 m 7 m ) ( 10 m3
0. 700 L7 * 1
0.200 2% 1
2.600 . 6*1
0.600 . 6*1
2.200 2% 1
30, 12, 20(2pH) 10. 20 M3
W/ C(55 ), ( )
0-0018
m3 0. 060
( ) #06
2 %
( ) #06
5 %
#09
20 %
10 mi3
1 mQ3




0-0037

S3076 0 -0017

90m3 160m3 (H5m _7m__ ) ( ) 10 m3
A=4 90m3 160m3 (HSmB=2m )

D=1 E=1

F=0 30m (m) G=1

| =18 F ( m3) J=0 ( )

K=0 L=1




m3

S923

0

-0018

0-0038

m3

.00
L2 4KL 66.00 L
.03
90 110m3/ h
A=1 ( ) B=6 )
C=1.03 D=0 )
E=6




0-0039

V0001 0 -0019
100x2. 7 0.
125x3.1 14.
175x3. 5 1.




0-0040

VOOO?2 0 -0020
CC- m2

1

cC-
1

CC-B

1

cC-
1

cC-
1




0-0041

SS000099 0 -0021
SD345 D16 D25 [ 110t 1 t
1.000t¢
<J1SG3112>

SD345, D16 25 1.030t¢ 1*1.03
1
1 t

A=1 - B=6 SD345_pD16 D25

D=1 E=1 -

F=2 [ 110t H=1 -

| =1 - J=1 -

K=1 -
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0-0043

V0003 0 -0023
100 m

2.487
1.244
1.244
75 2.488
50m 4.974
100 2.487
7.461
15kg 19 mm 2.487
19 mm 2.487

, 2 4KL 74.6

#09
13.5
13.5%
100




0-00414
VOO0OO3 0 -0023
100 m




0-0045

VOOO4 0 -0024
100 m2
1.000
1.000
1.000
1.000
(
) Ot , 1.000
1,2 )
, 4 KL 80.0
#09
8. 0
100 m
1 m




0-0046

VOOOS5 0 -0025
10 m3

0. 689

0. 689

0. 689
(

) Ot , 0. 689
1,2 )

, 4 KL 55. 12

#09
20. 0
20
10 m
1 m




SPK23040152 0 -0026
Co ( DI D 34. 3km (28. 4km ) 1 m3
42.35% 42.40% : 15. 25 % : 0. 00 % 4,23
( ( ) ( (
] MTPCO0OO 1
10t 42.35% 10t MTPTO0OO 1
( ( ) (
( ( ) RTPCO0O0O0(
42.40% RTPTO0O0O0(
TTPCOOO 1
.2 4KL 15. 25% TTPTO0O0O 1
EPOO1
A=1 Co ( B=1
C=2 DI D D=67 34.3km (28. 4km )
E=1

~ ~



0-0048

SDT00031 0 -0027
1 m3
1. 00 M3
1
1 mQ3
A=1 B=1
c=1 D=1




SPK23040306

15cm 30cm 1 m
9.87% 34.84% : 55.29% 0. 00% 3,038
( ) ( ) ( )
MTPCO00YH7
( ) 6. 67% ( MTPTO000YH7
30cm @75cm 30cm @75cm
( ) ( ) EKOOO9
RTPC000(Q1
12. 08% RTPT000(Q1
RTPCOO0O0QY9
6.22% RTPTO000(Q9
RTPC000(Q2
5.24% RTPT000(Q2
( ) ( ) ERO0O09
TTPCOO0OO16
24. 95% TTPTO0O0O016
75cm( 30 ) 75cm( 30 )
TTPCOO0O15
17.10% TTPTO00O015
56cm(22 ) 56cm(22 )
TTPC00344
10. 46% 14 TTPTO00344
35cm( 14 )




SPK23040306 0 -0028
15cm 30cm 1
9. 87% : 34. 84% : 55. 29% : 0. 00%
( ) ( ) ( ) ( )

TTPCOOO1
1. 88% TTPTOO0O1

( ) EZ009

EPOO1

A=2 cC=2 15cm 30cm

E=1




0-0051

VOOO®6 0 -0029
1.23 100 m3
( )
0. 496
0. 266
, 7t 0. 401
(1,2
(
11 12t 0. 155
( 112!
, 2 4KL 29. 294
1
100 m
1 m




0-0052

VOO0OO7 0 -0030
1.25 100 m3
( )
0. 505
0. 270
, 7t 0. 407
( 1,2
(
11 12t 0. 157
( 112!
, 2 4KL 29. 770
1
100 m
1 m




0-0053

VO0OOS8 0 -0031
1.25 100 m3
( )
0. 505
0. 270
, 7t 0. 407
( 1,2
(
11 12t 0. 157
( 112!
, 2 4KL 29. 770
1
100 m
1 m




0-0054

VOO0OOO9 0 -0032
1.28 100 m3
( )
0.517
0. 276
, 7t 0. 417
( 1,2
(
11 12t 0.161
( 112!
, 2 4KL 30. 480
1
100 m
1 m




0-0055

vVOo0O10 0 -0033
1. 03 10 m2
0. 046
0. 093
0. 417
< > ( )
251t , 0. 046
1 3,2011, 2014
( )
5009/ m2, 1078N/5cm 10 m
#09
0.5
0.5
10 m
1 m




0-0056

vVOoo0o1l1l 0 -0034
1. 27 10 m2
0. 057
0. 114
0. 514
< > ( )
251t , 0. 057
1 3,2011, 2014
( )
5009/ m2, 1078N/5cm 10 m
#09
0.5
. b5
10 m
1 m




0-0057

vVOoO0o1l2 0 -0035
1. 27 10 m2
0. 057
0. 114
0. 514
( )
) 50t , 0. 057
(1,2 ) ( ,
, 2 4KL 4. 560
( )
5009/ m2, 1078N/5cm 10 m
#09
0.5
0.5
10 m
1 m




0-0058

vVOo0O13 0 -0036
1. 14 10 m2
0. 051
0. 103
0. 462
( )
) 50t , 0. 051
(1,2 ) ( ,
, 2 4KL 4. 080
( )
5009/ m2, 1078N/5cm 10 m
#09
0.5
0.5
10 m
1 m




S1050041

0

-0037

100

0-0059

m2

. 152

. 152

. 152

. 152

0-0038

%

#09

10




0-0060

-0038

0

S9035

28

9t

~
. N
N
(o]
o O
—
—
I
1 mA
o o (o]
o o o (92]
. . . S
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S1050043

0

-0039

100

0-0061

m2

. 143

. 143

. 143

. 143

0-0038

%

#09

10




0-0062

S1050029 0 -0040
22x1524x3048, 802kaql/ 138 1
( )
22x1524%x3048,802kg/ 138.000
180
1
1
A=3 22x1524%x3048,802kg/ B=1
C=138 ( ) D=1 R




0-0063

SHD100O07 0 -0041
10
0.161 1*0. 161
0.161 1*0. 161
0.161 1*0. 161
(2.0t )
, 110cmx 110cm 10. 000
(3 )
-28 ( ) 0-0042
2.9t 0. 8m3 0.161
#09

7 %
10
1

( 110c mx

B10cm)




0-0064

-0042

0

S9035

28

9t

~
. N
N
<
o<
—
—
I
1 mA
o o <
o o < (92]
. . . S
— (0)) — [e0]
— .
— o
—~
4
—~ (o))
9 - N
. N
N
~<
- O -
X . O
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N —
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™M O
E
(o o I
.M —
o [QVI |
N — 1
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0-0065

VOO14 0 -0043
1.03 10
0.129
0.129
0.129
(
)50t 0.129
1,2 )
, 2 4KL 10.320
1
10




0-0066

VOO1l5 0 -0044
1.27 10
0. 244
0. 244
0. 244
(
)50t 0.192
1,2 )
, 2 4KL 15. 3601L
1
100




0-0067

V0016 0 -0045
1.27 10
0.1509
0.1509
0.1509
(
)50t 0.1509
1,2 )
L2 4KL 12.720L
1
10




0-0068

V0017 0 -0046
1.14 10
0.143
0.143
0.143
(
)50t 0.143
1,2 )
, 2 4KL 11. 440
1
10




0-0069

V0018 0 -0047
40 120 (m3/ h)
0-0048
1
0-0050
40 120 (m3/ h) 37




SHD10037

0

-0048

0-0070

0.500
0.100
2.000
28 0-00409
.9t 8 m3 0.500
1




0-0071

-0049

0

S9035

28

9t

~
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N
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—
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I
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. . . S
— Lo — [e0]
(o] .
o
—~
4
—~ (o))
9 - N
. N
N
~<
- O -
X . O
< O N
N —
- ~ ~— i
™M O
E
(o o I
.M N
o —
N — 1

<O




S1050031

0

-0050

0-0072

40 120 (m3/ h)
0.140
( ) 0-0051
200 mm, 10m 1. 000
11. 0kw
- 16 _ 0-0052
35k VA 1.000
2
#09
3 %
1
A=2 40 120 (m3/ h)B=1




0-0073

( ) S9000045 0 -0051
200 mm, 10m 11. Okw 1
> ( )
200 mm, 10m 1. 20
11. Okw
1
1

A=4 200 mm, 10m B=1. 2 ( /)




0-0074

16 _ S9469 0 -0052
35k VA 2
, 2 4KL 33.00 |
> (
35k VA 1.20
( 1,2
1
1
A=7 35k VA B=3 L/
C=1.2 ( ) D=3 2




0-0075

V001 0 -0053
1.45 10 m

. 725

. 117

. 219
(

)50t . 290
1,2 )

, 2 4KL 23. 200




0-0076

V0020 0 -0054
1.45 10 m
0.725
1.117
3.219
(
)50t 0.290
1,2 )
, 2 4KL 23. 200
1
100




18

00 mm

V0022

0

-0055

0-0077

R30

1800 mm
L=5.

Om W=1.

235

t /




0-0078

voo21 0 -0056
1. 45 M- 30 10 m3
0. 328
0. 608
1. 544
0-0057
0. 468
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4. LY — MR
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0.550 m
13.48 kN/m*
220 m



b) RV A7
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0.273 X 52
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2 T
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IE i il
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)
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